Section 2.6. Combinations of Functions; Composite Functions Objective 1: Find a Function's Domain. Note: The domain of a function is the set of all real numbers: (-00,00) unless x appears in the denominator on x appears in a square root (or an even root). * Care 1: Functions that do not have x appears in the denomination or in a square root. E.g. Find the domain of f(x) = x2 - 7 xc. Answer: Since the function contains neither a denominator non a remare root, the domain is the set of all real numbers. In interval notation: D = (-00,00) * (ase ?: Functions that have x appear in the denomination. Strategy for finding the domain of there functions: Step 1: Set denomination equal to zero and solve Step 2: The domain is the set of all real numbers excluding the values in Step 1. Write in interval notation.

E.g. Find the domain of the given function

(a)
$$f(x) = \frac{1}{x-6}$$
 (b) $g(x) = \frac{2x+3}{12x-7}$

(a)
$$h(x) = \frac{3x+2}{x^2-2x-3}$$
 (d) $f(x) = \frac{5x}{x^2-49}$

Solution:

$$x = 6$$

Stap ?:

De all real numbers excluding 6

$$D_{x} = \left\{ x \mid x \neq 6 \right\}$$

(b)
$$g(x) = \frac{2x+3}{12x-7}$$
 Denomination

$$x = \frac{7}{12}$$

$$St_{ap} 2: D = \left(-\infty, \frac{7}{12}\right) \cup \left(\frac{7}{12}, \infty\right)$$

$$(x) = \frac{3x+2}{x^2-2x-3} \rightarrow denominator$$

Step 1:
$$x^2 - 2x - 3 = 0$$
 (Set denom. = 0)
 $(x - 3)(x + 1) = 0$ (Factor)

$$x - 3 = 0$$
 $x + 1 = 0$
 $x = 3$ $x = -1$

Step 2: De = all real numbers except for -1 and 3.

In interval notation:
$$\frac{20}{-20}$$
 $\frac{20}{-1}$ $\frac{10}{3}$ $\frac{10}{$

In set notation:

$$D_{k} = \{x \mid x \neq -1, x \neq 3\}$$

(d)
$$y(x) = \frac{5x}{x^2 - 49}$$

$$\rightarrow x^2 = 49 \rightarrow x = \pm \sqrt{49} = \pm 7$$

Step 2: D: = all real numbers except for -7 and 7

$$D_{i} = \{x \mid x \neq -7, x \neq 7\}$$

Case 3: Functions that have x appear in a square root

Strategy for finding the domain of these functions

Step 1: Set the expression under the square root

to be > 0.

We have an inequality. Solve this inequality.

Step ?: The solution to the inequality is the domain.

Write the domain in interval n-tation

E.g. Find the domain of the given function.

(a)
$$f(x) = \sqrt{3x + 12}$$

Solution:

a) Step 1: 3x+12 > 0 (Set expn. under √ >0)

$$\rightarrow x \geqslant \frac{-12}{3}$$
 (Divide by 3)

$$\rightarrow x \geqslant -4$$

Domain

Step2: muning

$$D_{g} = \begin{bmatrix} -4, \infty \end{bmatrix}; D_{g} = \{x \mid x \geq -4\}$$

(interval)

x ≤ 3

Cure 4: Functions that have a appacer in a squere root that is in the denominator.

Strategy for finding the domain:

Step 1: Sat the expression under the square root to be > 0.

Solve the resulting inequality.

Step 2: The domain is the solution the inequality.

Write it in interval notation.

(a)
$$f(x) = \frac{3x+2}{\sqrt{2x-20}}$$

$$\rightarrow 2x > 20 \rightarrow x > 10$$

$$\rightarrow -3x > -24 \rightarrow x < \frac{-24}{-3}$$

Ob; 2: Combining Functions.

E.g. Given 2 function
$$f(x) = 2x$$
; $g(x) = x - 1$

$$(f+g)(x) = f(x) + g(x)$$

$$(f+g)(x) = (2x) + (x-1) = 3x-1$$

$$\sqrt{3(5)} - 1 = 14$$

$$f(5) + g(5) = 10 + 4 = 14$$

$$2(5) 5-1$$

pluy 5 into formula for \$+9

$$(f-g)(x) = f(x) - g(x)$$

$$(f-g)(x) = (2x) - (x-1)$$

$$f(x) \qquad g(x)$$

$$= 2x - x + 1 = x + 1$$

(3) Product:
$$fg$$
 multiply
$$(fg)(x) = f(x) \cdot g(x)$$

$$(f_g)(x) = (2x) \cdot (x-1) = 2x^2 - 2x$$

$$f(x)$$
 $g(x)$

$$f(x) \qquad g(x) \\ 2(5)^2 - 2(5) = 50 - 10 = 40$$

$$(f_3)(5)$$

on
$$(2.5) \cdot (5-1) = 10.4 = 40$$

4) Quotient: 4

$$\left(\frac{f}{g}\right)(x) = \frac{f(x)}{g(x)}$$

$$\left(\frac{2}{3}\right)(x) = \frac{2x}{x - 1}$$

$$\left(\frac{2}{3}\right)(5) = \frac{2(5)}{5 - 1} = \frac{10}{4} = \frac{5}{2}$$

$$\frac{2(5)}{5 - 1} = \frac{2(5)}{4} = \frac{10}{4} = \frac{5}{2}$$

$$\frac{2(5)}{3(5)} = \frac{2(5)}{5 - 1} = \frac{10}{4} = \frac{5}{2}$$

E.g.
$$f(x) = 2x-1$$
. $g(x) = x^2 + x-2$.

1) Find formulas for the functions

$$\omega(f+g)(x)$$
 $\omega(f-g)(x)$ $\omega(fg)(x)$ $\omega(\frac{f}{g})(x)$

2) Find the domain of f+g; f-g; fg and fg

Solution:

$$\frac{3(a)(f+g)(x) = f(x) + g(x)}{= (2x-1) + (x^2 + x - 2)}$$

$$\frac{(f+g)(x) = x^2 + 3x - 3}{= (combine like terms)}$$

(b)
$$(f - g)(x) = f(x) - g(x)$$

= $(2x - 1) - (x^2 + x - 2)$
= $2x - 1 - x^2 - x + 2$ (Distribute the -)
 $(f - g)(x) = -x^2 + x + 1$ (Cambine like terms)